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vof/k &   3%15 ?k.Vs               iw.kkZad & 56 
 

1- mn~ns'; gsrq vadHkkj & 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 23.5 41.96 
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3- Kkuksi;ksx@vfHkO;fDr  7 12.5 
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1- oLrqfu"B 16 0-5 8 14-29 32 24 
2- fjDr LFkku 10 0-5 5 8-93 20 15 
3- vfry?kqÙkjkRed 7 1 7 12-5 14 14 
4- y?kqÙkjkRed 10 1-5 15 26-79 20 45 
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6- fuca/kkRed 2 4 8 14-28 4 48 
7- Ekkufp= 2 2 4 7-14 4 10 
 ;ksx 50  56 100% 100% 195 feuV 

             

fodYi ;kstuk % [k.M ^l* ,oa ^n* esa gSa A              

3- fo"k; oLrq dk vadHkkj & 

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 
1- Hkkx&1 ekuo Hkwxksy ds ewy fl)kUr   

 bdkbZ&1 3 5.36 

 bdkbZ&2 5 8.93 

 bdkbZ&3 18 32.14 

 Ekkufp= 2 3.57 

2- Hkkx&2 Hkkjr% yksx vkSj vFkZO;oLFkk   

 bdkbZ&1 3 5.36 

 bdkbZ&2 2 3.57 

 bdkbZ&3 14 25 
 bdkbZ&4 4 7.14 
 bdkbZ&5 3 5.36 
 Ekkufp= 2 3.57 
                                                    ;ksx 56 100% 
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fodYiksa dh ;kstuk %& [k.M ^l* ,oa ^n* esa izR;sd esa ,d vkarfjd fodYi gS   uksV%& dks"Bd ds ckgj dh la[;k ^vadksa* dh rFkk vanj dh la[;k ^iz'uksa* ds |ksrd gSA  
                       

gLrk{kj 
  



ekWMy iz’u i= ijh{kk&2024 

Hkwxksy¼d{kk&12½ 
[k.M& v 
Part-A 

 (Geography) 
 

le;% 3 ?k.Vs 15 feuV                                 iw.kkZad% 56 
 

ijh{kkfFkZ;ksa ds fy, lkekU; funZs'k %& 

GENERAL INSTRUCTION TO THE EXAMINEES: 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA 
 

   Candidate must write first his/her Roll No. on the question paper compulsorily. 

2- lHkh iz'u djus vfuok;Z gSA 
 

   All the questions are compulasory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 
 

   Write the answer to each question in the given answer book only. 

4- ftu iz'uksa esa vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA  

   For questions having more than one part the answers to those parts are to be written 

together in continuity. 

 

  





 ¼[k.M&v½ 
Section-A 

 
Ikz0 1 uhps fn;s x;s cgqfodYih; iz’uksaa ds lgh fodYi dk p;u dj mÙkj iqfLrdk esaa fyf[k,A  
Write the correct answer to the given multiple choice questions in the answer booklet  
 

¼i½ uofu’p;okn dh ladYiuk fdlus izLrqr dh\      ½ 
 

¼v½ jSVtsy ¼c½ fxzfQFk Vsyj ¼l½ ,yu lh- lsaiy ¼n½ foMky&Mh&yk&Cyk’k 

      Who introduced the concept of neo-determinism? 

(A) Ratzel (B) Griffith Taylor (C) Ellen C. Semple (D) Vidal de la Blache 

(ii) tula[;k dh izkdf̀rd o`f) dk lw= gS&       ½ 

 ¼v½ tUe&e`R;q     ¼c½ tUe&e`R;q+vkizokl  

¼l½ tUe&e`R;q&mRizokl   ¼n½ tUe&e`R;q+ vkizokl&mRizokl                             

    The formula for natural growth of population is- 

 

(A) Birth-Deaths   (B) Birth-Deaths+ In migration 
   

(C)     Birth-Deaths-out migration   (D) Birth-Deaths + In migration-out migration  
 

(iii) fuEufyf[kr esa ls fdl mikxe dk laca/k izks0 veR;Z lsu ls gS&    ½ 

 ¼v½ {kerk mikxe ¼c½ vk; mikxe 

¼l½ dY;k.k mikxe ¼n½ vk/kkjHkwr vko’;drk mikxe   

      Which of the following approaches is related to prof. Amartya Sen - 

 (A) Capability approach   (B) Income approach 
 

(C) Welfare Approach    (D) Basic Needs Approach 
 

(iv) izkphure Kkr vkfFkZd fØ;k,¡ gS&               ½ 

 ¼v½ Hkkstu laxzg.k&d`f"k  ¼c½ [kuu&d`f"k  

¼l½ Ik’kqpkj.k&[kuu  ¼n½ Hkkstu laxzg.k&vk[ksV 

       The oldest known economic activities are- 

 (A) Gathering-Agriculture  (B) Mining-Agriculture 
 

(C) Pastoralism-mining (D) Gathering-Hunting 

(v) fuEu esa ls dkSu&lh ,d vFkZO;oLFkk esa mRiknu dk LokfeRo O;fDrxr gksrk gS\  ½ 

     ¼v½ iw¡thokn ¼c½ fefJr ¼l½ lektokn  ¼n½ dksbZ Hkh ugha 

     In which one of the following economies, production is individually owned? 

 (A) Capitalist   (B) Mixed   (C) Socialist  (D) None 



(vi) fuEufyf[kr esa ls ifjogu dk izdkj ugha gS&      ½ 

 ¼v½ lM+d ¼c½ ty    ¼l½ eksckby  ¼n½ ok;q 

     Which of the following is not a type of transport- 

 (A) Road (B)Water   (C) Mobile   (D) Air 

(vii) Lost ugj fdl ns’k esa fLFkr gS\        ½ 

 ¼v½ iukek ¼c½ :l    ¼l½ Hkkjr   ¼n½ feL= 

      In which country is the Suez Canal located? 

 (A) Panama (B) Russia   (C) India  (D) Egypt 

(viii) dksydkrk iÙku fdl unh ij fLFkr gS\       ½ 

 ¼v½ gqxyh ¼c½ jkbu ¼l½ ueZnk  ¼n½ xksnkojh 

     Kolkata port is situated on which river? 

 (A) Hoogli (B)Rhine   (C) Narmada  (D) Godavari 

(ix) fxz;lZu ds vuqlkj Hkkjr esa Hkk"kkvksa dh la[;k Fkh&      ½ 

 ¼v½ 179 ¼c½ 544  ¼l½ 22  ¼n½ 169 

     According to Grierson the number of languages in India was- 

 (A) 179 (B)544  (C) 22  (D) 169 

(x) fuEufyf[kr esa ls lokZf/kd tula[;k ?kuRo okyk jkT; gS\     ½ 

 ¼v½ fcgkj ¼c½ if’pe caxky ¼l½ mÙkj izns’k  ¼n½ dsjy   

  Which of the following is the state with highest population density ? 

 (A) Bihar (B) West Bengal   (C) Uttar Pradesh  (D) Kerala 

(xi) ^^uh:&eh:** dk;ZØe dk laca/k fdl jkT; ls gS&      ½ 

 ¼v½ jktLFkku  ¼c½ iatkc ¼l½ vkU/kz izns’k  ¼n½ vle 

“Neeru-Meeru” program is related to which state- 

 (A) Rajasthan    (B)Punjab          (C) Andhra Pradesh     (D) Assam 

(xii) ;equk unh fdu nks 'kgjksa ds e/; lcls vf/kd iznwf"kr gS&     ½ 

 ¼v½ fnYyh ls vkxjk ¼c½ fnYyh ls iz;kx ¼l½ fnYyh ls bVkok  ¼n½ fnYyh ls iVuk 

      Between which two cities is the Yamuna river most polluted- 

 (A) Delhi to Agra (B) Delhi to Prayag   (C) Delhi to Etawah  (D) Delhi to Patna 

(xiii) ckWDlkbV fdldk v;Ld gS \        ½ 



¼v½ ,Y;wfefu;e ¼c½ eSaxuht ¼l½ vHkzd  ¼n½ rk¡ck 

    Whose ore is Bauxite  ? 

 (A) Aluminium  (B) Manganese   (C) Mica  (D) Copper 

(xiv) Hkkjr esa jsy lsok dh 'kq:vkr dc gqbZ Fkh\      ½ 

 ¼v½ 1853  ¼c½ 1857 ¼l½ 1911  ¼n½ 1923 

   When was the railway service started in India? 

 (A) 1853  (B)1857          (C) 1911  (D) 1923 

(xv) fuEufyf[kr esa ls dkSu&lk ,d Hkw&vkc) iÙku gS&     ½ 

 ¼v½ gfYn;k  ¼c½ eqacbZ ¼l½ psUubZ  ¼n½ fo’kk[kkiV~ue 

  Which one of the following is a land –locked harbour- 

 (A) Haldia  (B) Mumbai       (C) Chennai       (D) Vishakhapatnam 
 

(xvi) fuEufyf[kr esa ls dkSu&lk vEy o"kkZ dk ,d dkj.k gS&     ½ 
 ¼v½ ty iznw"k.k ¼c½ Hkwfe iznw"k.k ¼l½ ‘’kksj iznw"k.k   ¼n½ ok;q iznw"k.k  

       Which one of the following is a cause of acid rain- 
 

 (A) Water Pollution   (B) Land Pollution   (C) Noise Pollution   (D) Air Pollution 
Ikz0 2 fjDr LFkkuksa dh iwfrZS dhft,A   
          Fill in the blanks.  
 

¼i½ vfr mPPk ekuo fodkl lwpdkad okys ns’k os gSa ftudk Ldksj------ ls Åij gSA   ½ 

     Countries with very high human development index are those which have a score of over…….. 
 

¼ii½ fefJr d`f"k esaa Qly mRiknu ,oa ------------ nksuksa dks leku egRo fn;k tkrk gSA   ½ 

        In mixed farming, equal emphasis is laid on crop cultivation and ……………….. 
 

¼iii½ izR;sd lM+d tks nks uksMksa dks tksM+rh gS----------------------- dgykrh gSA     ½ 

      Every road that joins two nodes is called a......... 
 

¼iv½ -------------------------------- esa fo’o dk l?kure jsy ra= ik;k tkrk gSA     ½ 

      ……………….. has one of the most dense rail networks in the world. 

¼v½ fo’o O;kikj laxBu dk eq[;ky;-----------------------------esa fLFkr gSA      ½ 

      WTO headquarters are located in ……………………… 
 

¼vi½ jk"Vªh; ;qok uhfr Qjojh--------------------------- esa vkjaHk dh xbZ gSA      ½ 

       The National youth policy has been launched in February……….... 
 

¼vii½ Hkkjr esa uxjksaa dk vH;qn; -------------------------- dky ls gqvk gSA      ½ 

        Towns flourished since………………… Time in India. 
 

¼viii½ Hkkjr dh vf/kdre tula[;k dk izzeq[k Hkkstu---------------gSA      ½ 

         …….. is a staple food for the overwhelming majority of population in India. 
 

¼ix½ flapkbZ dh O;oLFkk ------------------- dks laHko cukrh gSA       ½ 

       Provision of irrigation makes…………possible. 
 

¼x½ bafnjk xka/kh ugj iatkc esa ---------------------- ck¡/k ls fudyrh gSA      ½ 



      Indira Gandhi canal originates from………. dam in Punjab. 
 

3- vfr y?kqÙkjkRed iz’u          
   Very Short Answer Type Questions: 
 

¼i½ ^^ekuo Hkwxksy ekuo lektksa vkSj /kjkry ds chp laca/kksa dk la’ysf"kr v/;;u gSA** ekuo Hkwxksy dh    
    ;g ifjHkk"kk fdlus nh\          1 
       “Human geography is the synthetic study of relationship between human societies and earth`s   
        Surface” Who gave this definition of human geography? 
 

¼ii½ tula[;k ifjorZu ds nks ?kVdkas ds uke fyf[k,A       1 

      Name two components of population change. 
 

¼iii½ ekuo fodkl izfrosnu 2020 ds vuqlkj Hkkjr dk dkSu&lk LFkku gS\    1 

       Which position of India according to the Human Development Report 2020? 
 

¼iv½ fofuekZ.k dk 'kkfCnd vFkZ fyf[k,A         1 

      Write the literal meaning of manufacturing.   
 

¼v½ WTO dk iwjk uke fyf[k,A          1 

     Write the full name of WTO. 
 

¼vi½ fo’o ds ty lalk/kuksa dk fdrus izfr’kr Hkkx Hkkjr esa gS\      1 

      What percentage of the world`s water resources is in India? 
 

¼vii½ /ofu iznw"k.k ls vki D;k le>rs gS\        1 

        What do you understand by noise pollution? 

 
Section-B 
¼[k.M&c½ 

 

Yk?kqÙkjkRed iz’u %   
Short answer Type Questions: 
 

iz04  ekuo Hkwxksy ds {ks=ksa ds uke crkb,A          1½ 
         Name the fields of human geography. 
 

iz05  vkids vuqlkj ,d fodflr jk"Vª ds fy, tukafddh; laØe.k fl)kar dk mi;ksx crkb,A  1½ 
         According to you, explain the use of demographic transition theory for a developed nation. 
 

iz06  ^^dkj[kkuk d`f"k** D;k gS\             1½           
What is factory farming? 

 

iz07  ckg~;L=ksru fdls dgrs gS\               1½ 
      What is outsourcing? 
 

iz08  ukSlsuk iÙku ls vki D;k le>rs gSa \              1½       
      What do you understand by naval port? 
 

iz09  tula[;k of̀) dks ifjHkkf"kr dhft,A               1½
 Define population growth. 
 



iz010  ^^LekVZ flVh fe’ku** ds mís’; crkb,A                1½
 Explain the objectives of Smart Cities mission. 
 

iz011  Lof.kZe prqHkqZt ifj;kstuk ij fVIi.kh fyf[k,A          1½
 Write a short note on the golden quadrilateral project. 
 

Ikz012  vktknh ds ckn Hkkjr ds vk;kr&la?kVu ds cnyrs izk:Ik dks la{ksi esa le>kb,A     1½
 Briefly explain the changing pattern of India`s import composition after independence.  
 

Ikz013  ty iznw"k.k ds izzeq[k L=ksrkas dk o.kZu dhft,A         1½
 Describe the major sources of water pollution. 

 

       Section-C 
¼[k.M&l½ 

nh?kZ mÙkjh; iz’u%&   
Long Answer Type Questions:- 
Ikz014  fuEufyf[kr ikjegk}hih; jsyekXkksaZ ij fVIi.kh fyf[k,&                 (1½ + 1½ =3) 
 ¼v½ ikj&lkbcsfj;u jsyekxZ ¼c½ ikj&dSusfM;u jsyekxZ 

 Write a note on the following transcontinental railway routes- 

 (A) Trans-siberian railways (B) Trans-Canadian railways 
 

vFkok (OR) 

 
 fuEufyf[kr leqnzh ekxksZa ij fVIi.kh fyf[k,& 
 ¼v½ mÙkjh vVykafVd ¼c½ Hkwe/; lkxj&fganegklkxjh;     
 Write a note on the following sea route- 
 (A) The Northern Atlantic (B) The Mediterranean-Indian Ocean 
 
Ikz015  Hkkjr esa ÅtkZ ds ijEijkxr L=ksrkas dk o.kZu dhft,A     3 
 Describe the conventional sources of energy in India. 
 

vFkok(OR) 
 

 Hkkjr esa ÅtkZ ds vijaijkxr L=ksrksa dk o.kZu dhft,A   
            Describe the non-conventional sources of energy in India. 
 
 

Ikz016  ioZrh; {ks= fodkl dk;ZØe dks vf/kd izHkkoh cukus ds mik; lq>k,¡A   3 
 Suggest ways to make the hill area development program more effective. 
  

vFkok(OR) 
 

       bafnjk xka/kh ugj dekaM {ks= esa lrr iks"k.kh; fodkl dks c<kok nsus ds fy, mik; lq>k,aA 
 Suggest the measures of promotion of sustainability in Indira Gandhi Canal command  
             area. 



Section-D 

¼[k.M&n½ 
fuca/kkRed iz’u %&          
Essay Type Questions:- 
 

Ikz017  m|ksxksa dh vofLFkfr dks izHkkfor djus okys dkjdksa dk oxhZdj.k dhft,A ¼dksbZ pkj½  ¼1+1+1+1=4)             
       Classify the factors influencing the location of industries. (Any Four) 
 

vFkok(OR) 
 

dPps eky ij vk/kkfjr m|ksxksa dk oxhZdj.k dhft,A      
 Classify the industries based on raw materials. 
 
iz0 18 Hkkjr esa d`f"k ds fodkl dk o.kZu dhft,A      4 
 Describe the development of agriculture in India? 
 

vFkok(OR) 

 
Hkkjr esa frygu Qlyksa ij foLrr̀ ys[k fyf[k,A     

                     Write a detailed article on oilseed crops in India. 
 

iz0 19 fn, x, fo'o ds js[kk&ekufp= esa fuEufyf[kr okf.kT; i'kq/ku ikyu okys jk"Vªksa dks vafdr  
      dhft,&               (4 X ½= 2) 
 ¼v½ U;wthySaM  ¼c½ vkLVªsfy;k ¼l½ vtsZaVkbuk ¼n½ vesfjdk 
 Mark the following commercial livestock rearing countries on the given outline map of the  
            world- 
  

(A) New zealand (B) Australia (C) Argentina (D) America 
 
 

iz0 20 fn, x, Hkkjr ds js[kk&ekufp= esa fuEufyf[kr varjkZ"Vªh; gokbZ iÙkuksa dks vafdr dhft,&   

(4 X ½= 2) 
 ¼v½ fnYyh  ¼c½ vgenkckn     ¼l½ csaxyw:     ¼n½ dksydkÙkk 
 Mark the following international airports on the given outline map of India- 

(A) Delhi (B) Ahmedabad     (C) Bengaluru     (D) Kolkata 
 
 
 

   
 


